B AYKEIOY OETIKOX [TIPOZANATOAIZMOX
a0y

@) (4,3)+(6,-2)=(4+6,3-2)=(10,1)
B (3.2)—(7.-1)=(8-7, 2—(-1))=(-4.3)
v) —5(-1,6)=(-5-(-1),-5-6)=(5,-30)
) 3(2,4)+2(-1,3)-4(-3,1)=(6,12)+(-2,6)+(12,-4)=(6-2+12,12+6—4)=(16,14)
40 2
(1,-5)+(-2,3)=(1-2 ,-5+3)=(-1 ,-2)
400y
(=6,7)+(1,-4)=(—6+1, 7—4)=(-5, 3)
e
(5,—-3)+(-9,1)=(5-9 ,—3+1)=(—4 ,-2)
S 40 5
(4,-7)—(-6,3)=(4—(-6) , -7-3)=(4+6 , -7-3)=(10 , —10)
S 40 ®
(-8,-1)—(-3,5)=(-8—(-3) , -1-5)=(-8+3, -1-5)=(-5, —6)
40
(9,4)-(1,-2)=(9-1, 4—(-2))=(9-1,4+2)=(8, 6)
40 0y
(6,~5)—(-7.-1)=(6—(-7) , -5—(-1))=(6+7 , —5+1)=(13, —4)
S 40 9
3(2,-9)=(3-2, 3:(-9))=(6,-27)
420 200
7(9,-2)=(7-9,7-(-2))=(63 , —14)
420 1y
-5(-3,4)=(-5(-3), -5-4)=(15, —20)
- 4 4
2(4,-1)+3(-2,5)=(2-4, 2:(-1))+(3-(-2) , 3-5)=(8, —2)+(-6 , 15) =
=(8-6,-2+15)=(2,13)
a1y
5(1,6)-7(2,-3)=(5-1,5-6)—(7-2, 7:(-3))=(5, 30)— (14, —21) =
=(5-14,30—(-21))=(-9, 30+21)=(-9, 51)
L
—3(—2 —1)—2( 5)=(-3(-2),—3(-1))—(2(-1),2-5)=(6,3)—(-2,10) =
=(6—(-2),3-10)=(6+2,3-10)=(8,-7)
—
—6(1,-4)+5(-3,-2)=(—6-1,—6-(—4))+(5:(-3),5:(-2)) =(-6,24) +(-15,-10) =
=(-6,24)+(-15,-10) =(-6-15,24-10) =(-21,14)
B T
4(3,-1)-3(-5,4)—-2(-6,7)=(4-3, 4-(-1))—(3:(-5) , 3-4)—(2-(-6) , 2:7) =
=(12, -4)—(-15,12)—(-12, 14) = (12—(-15)—(-12) , ~4-12-14) =
=(12+15+12, -30)=(39, —30)



